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ВАРИАНТ 1
I. Перепишите предложения; подчеркните в каждом из них 
глагол-сказуемое и определите его видовременную форму и залог. Переведите предложения на русский язык. 
1. Great Britain is developing its electronic industry. 
2. The United Kingdom has become a powerful highly developed state using natural resources of its colonies. 
3. High quality dairy products were exported from Great Britain. 
4. Poultry and pigs are raised in all parts of Britain. 
5. The United Kingdom does not include the southern part of Ireland. 
6. The production of television sets has been increased this year. 
7. Wheat and barley are being cultivated by the English farmers. 
8. Great Britain exported coal and textiles in large quantities until quite recent times. 
II. Перепишите предложения; подчеркните в них Participle I  
и Participle II и установите функции каждого из них, т.е. укажите, является ли оно определением, обстоятельством или частью глагола-сказуемого. 
Переведите предложения на русский язык. 
1. Great Britain is situated on a group of islands forming part of Europe. 
2. Farmers are cultivating wheat in this part of the country. 
3. The goods exported to many countries were produced at this plant. 
4.  Having rich natural resources the country has made great progress. 
III. Перепишите предложения; подчеркните в каждом из 
них модальный глагол или его эквивалент. 
Переведите предложения на русский язык. 
1.The goods may be loaded on lorries. 
2. They are to come оn time in order to meet him. 
3. The plant has to stop the production of these goods. 
4. You can make such a dress yourself. 
5. He was to do something but was not able to remember what it was. 
6. They should increase the number of exported goods. 
7. Could you help me, please? 
8. He had to get up early. 
IV. Прочтите и устно переведите весь текст. 
Перепишите и письменно переведите 2-й, 3-й и 4-й абзацы. 
GREAT BRITAIN 
1. The United Kingdom of Great Britain and Northern Ireland is
 situated on a group of islands forming part of Europe. This does not include the southern part of Ireland. Wales, Scotland and Northern Ireland are parts of the United Kingdom, but they are self-governed. 
2. Great Britain is a highly developed industrial country. Great Britain
 has accumulated great wealth exploiting the natural resources of its colonies. Until quite, recent times coal and textiles were exported in large quantities. With the increase of use of oil the demand for coal has fallen. The British textile industry has also suffered a great fall in overseas demands. 
3. On the other hand, British exports of machinery, vehicles and
electrical goods have vastly increased. Many new branches of industry were to be developed in order to increase the production of cars, television sets, refrigerators, etc. Great Britain is a large producer of iron and steel products, electronics and machinery, chemicals and textiles. It has a highly developed shipbuilding industry. 
4. Agriculture is one of the largest and most important activities 
in Great Britain. The main branch of agriculture affecting the whole British economy is dairy farming. High quality milk and milk products famous all over the world are produced there. Pig and poultry farms are common in all parts of Britain. The farmers are cultivating wheat and barley, which are chief crops. 
5. The geographical situation of Great Britain has produced 
a certain insular spirit among its inhabitants. Only in 1971, the government had to introduce decimal money but kept the pound sterling as the basic unit. 
Notes: 
overseas demands – спрос за границей. 
insular spirit         – чувство обособленности 
decimal money      – десятичная денежная система 
V. Прочтите 5-й абзац текста и вопрос к нему. 
Из приведённых вариантов ответа укажите 
номер предложения, содержащего правильный ответ на поставленный вопрос: 
What has produced a certain insular spirit among the inhabitants 
of Great Britain? 
1. The geographical situation of Great Britain has produced 
           a certain insular spirit among the inhabitants. 
2. The high level of living standards has produced a certain 
           insular spirit among the inhabitants. 
ВАРИАНТ 2 
I. Перепишите предложения; подчеркните в каждом из них глагол-сказуемое и определите его видовременную форму и залог.  
Переведите предложения на русский язык. 
1. Science and engineering have made great progress during
 the last thirty years. 
2. We were invited to the exhibition of new goods last week. 
3. The farmers have gathered good harvests this summer 
          4. They are raising all sorts of food products there.  
          5. In the War of Independence the USA freed herself and became independent. 
          6. The students have been given a difficult task. 
7. Agriculture of the USA is highly developed. 
8. High-quality computers are being produced by this American company. 
II. Перепишите предложения; подчеркните в них Participle I 
и Participle II и установите функции каждого из них, т.е. укажите, является ли оно определением, обстоятельством или частью глагола сказуемого. 
Переведите предложения на русский язык. 
1. Nylon was the first synthetic fiber used in clothing. 
2. Having rich natural resources the United States have 
           made great  progress. 
3. The standard of living is increasing in highly developed countries. 
4. Plastic articles are often difficult to repair if broken. 
III. Перепишите предложения; подчеркните в каждом 
           из них модальный глагол или его эквивалент. 
           Переведите предложения на русский язык. 
1. We can find high mountains in this country. 
2. The farm is to be mechanized in order to be profitable. 
3. They had to introduce new forms of services in the shop. 
4. You may take the book for 2 days.  
5. In England, you are to drive on the left side of the road. 
6. The farmers could raise all sorts of products there. 
7. The students were to translate the text without a dictionary. 
8. You should be more attentive crossing the street. 
IV. Прочтите весь текст, устно переведите его. 
           Перепишите и письменно переведите 2-й, 3-й, 4-й и 5-й абзацы. 
THE UNITED STATES OF AMERICA 
1. The USA is a country of great differences. At the same time, 
it has surprising similarities. The differences are partly a result of the geography. Occupying nearly half a continent the United States is a country of great contrasts in landscape, climate and even the way of living. 
2. On the territory of the United States, we can find high mountains and 
the flattest of prairies, tropical heat and arctic cold, fertile valleys and desert areas. The farmers are raising all sorts of products there and there are industries of every kind. 
3. Having rich natural resources, the United States have made 
great progress in its economic development. The engineering industry manufactures about a half of the metalworking equipment produced in the world. The electronic and electrical engineering industries have reached a high level of development in the past decades. The producers of equipment for space and atomic power stations had to use the latest scientific achievements in order to occupy the leading role in the country’s economic life. 
4. The United States have a highly developed agriculture. 
Characteristic features of its agriculture are the high degree of regional and branch specialization and concentration at highly mechanized farms. 
5. The flag of the USA has 50 stars on a blue background representing 
           50 states of the country. But the city of Washington, the capital of the USA,
           is not in any of them and is to be kept by all of them. 
           6.The population of the United States, which has surpassed 200 million,
           is growing and the number is to grow some more millions because of the
           flow of emigrants from Europe. 
Notes: 
fertile valley – плодородная долина engineering industry – машиностроительная промышленность 
V. Прочтите 6-й абзац текста и вопрос к нему. 
           Из приведённых вариантов ответа укажите номер предложения, содержащего правильный ответ на поставленный вопрос: 
Why is the population of the USA increasing? 
1. Because of the high standard of living in the country. 
2. Because of the flow of emigrants from Europe. 
ВАРИАНТ 3 
I. Перепишите предложения; подчеркните в каждом из них
 глагол-сказуемое и определите его видовременную форму и залог. Переведите предложения на русский язык.  
1. Scientists and engineers have worked out many special devices. 
2. The construction of the plant was completely mechanized. 
3. Canada is building up her own atomic power engineering. 
4. Engineering specializes in the production of aircraft 
      in this country. 
5. Canada occupies the seventh place among developed 
       countries  for volume of industrial production. 
6. These locomotives will have been produced by the end 
       of the next month. 
7. The lecturer is being listened to by the students. 
8. Canada created favorable conditions for its 
       economic development. 
II. Перепишите предложения; подчеркните в них Participle I 
и Participle II и установите функции каждого из них, т.е. укажите, является ли оно определением, обстоятельством или частью глагола-сказуемого. Переведите предложения на русский язык. 
1. Having vast territory, Canada has created favorable conditions 
           for developed economy. 
2. One should mention woodworking industry playing the leading 
           role in the country’s economic life. 
3. When produced at this factory the commodities have high 
           quality  and low  prices. 
4. Though separated by thousands of kilometers Canada and Australia 
           have much in common. 
III. Перепишите предложения; подчеркните в каждом 
из них модальный глагол или его эквивалент. Переведите предложения на русский язык. 
1. A computer should solve complex problems much faster 
        than a man. 
2. New types of plastics had to be obtained for space technology. 
3. To make farms profitable farmers have to use 
         the latest achievements of science and technology in agriculture. 
4. The workers are to complete building of the house by the end 
         of the year. 
5. Canada can become one of the greatest wheat 
         producing countries. 
6. Both countries were to take part in this international exhibition. 
7. The student was to retell the text. 
8. Translating the article you may use a dictionary. 
IV. Прочтите и устно переведите весь текст. 
Перепишите и письменно переведите 3-й, 4-й и 5-й абзацы.  
САNADA 
1. Though separated by thousands of kilometers Canada and Australia 
have much in common as regards their history, economy and culture. Formerly, both countries were British colonies, which had to be developed by settlers from Europe.  Today both countries are members of the British Commonwealth of Nations. Both countries have a highly developed economy. 
2. Canada occupies the seventh place among developed countries 
for volume of industrial production. Canada is approaching the major western powers for level of science and technology, for volume of key industries and agricultural commodities. 
3. Having vast territory and an abundance of minerals Canada has 
created favorable conditions for its economic development. The heavy industry occupies the leading place in Canada's industrial-agrarian complex. 
4. Engineering, one of the most developed branches of 
manufacturing industry, specializes in the production of motor vehicles, locomotives and aircraft. While speaking about Canada’s industry one can mention electrical engineering, electronics and shipbuilding. Possessing rich uranium deposits Canada is building up her own atomic power engineering. 
5. Canada’s highly productive agriculture constitutes an important
 part of the economy enabling her to become one of the greatest wheat producing countries. Stockbreeding yields more than 50 per cent of the agricultural output. We should also mention the timber, woodworking and paper industries playing an important role in the Canadian economy. 
Notes: 
to have much in common – иметь много общего. 
the British Commonwealth of Nations – Британское содружество наций 
IV. Прочтите I-й абзац и вопрос к нему. Из приведённых вариантов ответа укажите номер предложения, содержащего правильный ответ.  
What have Canada and Australia in common? 
1. Both countries have similar climate. 
2. Both countries have a highly developed economy. 
                                            ВАРИАНТ 4 
I. Перепишите предложения; подчеркните в каждом из них 
глагол сказуемое и определите его видовременную форму и залог. Переведите предложения на русский язык. 
1. This country occupies the eighth place for volume of 
           industrial    production. 
2. Farm equipment is manufactured in Sydney. 
3. Newcastle has developed shipbuilding industry. 
4. The output of iron ore is mounting. 
5. This farm equipment has been sold at high prices. 
6. All the world scientific achievements in sheep breeding are 
           being widely used by the Australian farmers. 
7. Australia lies in tropical and subtropical zones of the 
           Southern Hemisphere. 
8. They will sell their produce on the world market. 
II. Перепишите предложения; подчеркните в них Participle I 
и Participle II  и установите функции каждого из них, т.е. укажите, является ли оно определением, обстоятельством или частью глагола-сказуемого. Переведите предложения на русский язык. 
1. Specializing in sheep-breeding Australia holds the first place
           in the world for the number of sheep. 
2. The southeast is the most densely populated part of the country. 
3. The engineering and chemical industries are making a 
           growing share of the manufacturing industry output. 
4. When broken glass is difficult to repair. 
III. Перепишите предложения; подчеркните в каждом из 
них модальный глагол или его эквивалент. 
Переведите предложения на русский язык. 
1. One should be very attentive while choosing samples for the experiment. 
2. We can find all types of climate on the territory of this country. 
3. You are to come on time in order not to be late for the train. 
4. The farmers have to use advanced methods in sheep breeding. 
5. Agricultural production may increase in the nearest future. 
6. These goods were to be exported abroad. 
7. They must lower prices on their produce. 
8. The farmers could sell a large number of sheep. 
IV. Прочтите весь текст, устно переведите его. 
Перепишите и письменно переведите 2-й, 3-й, 4-й и 5-й абзацы. 
                   AUSTRALIA
1. Australia lies in tropical and subtropical zones of the 
Southern Hemisphere. Almost equal to Canada in area, Australia has a population half that of Canada. Australia occupies the eighth place among the developed countries for volume of industrial production. 
2. One should mention vast mineral resources of the country. 
The production of lead, zinc and copper ores, cobalt, uranium and other rare metals has reached hundreds of thousands of tons annually.  The output of iron ore is mounting. 
3. The engineering, oil refining and chemical industries are making 
a growing share of the manufacturing industry output. Motor vehicles, machine tools, instruments and farm equipment are manufactured in Sydney, Melbourne and other cities. 
4. Specializing in beef cattle breeding and sheep-breeding, Australia
 holds the first place in the world for the number of sheep and the production and export of wool. Australian farmers have to use all the world scientific achievements in sheep breeding in order to sell a large number of sheep on the world market. 
5. Wheat is the stable crop and it has become one of the most 
important products for export. On the whole, agricultural production accounts for two-thirds of the total value of the Australian exports. 
6. We may say that the southeast, the principal economic region is 
the most densely populated part of the country. Sydney is Australia’s biggest city, industrial center and port. Newcastle has developed metallurgical, shipbuilding and other industries. Canberra, the capital of Australia has rather small industrial production. 
V. Прочтите 6-й абзац и вопрос к нему. Из приведённых 
вариантов ответа укажите номер предложения, содержащего правильный ответ на поставленный вопрос: 
What is Australia’s biggest city? 
1. Australia’s biggest city is Melbourne. 
2. Sydney is Australia’s biggest city. 
ВАРИАНТ 5 
I. Перепишите предложения; подчеркните в каждом из них 
глагол-сказуемое и определите его видовременную форму и залог. Переведите предложения на русский язык. 
1. India received independence in 1947. 
2. Indian people have made considerable progress in economic 
          and cultural development. 
3. Farmers are growing rice. 
4. The agreement was signed by both countries. 
5. India ranks high as a world producer of food crops. 
6. These data were being carefully examined by the scientists. 
7. The country is surrounded by high mountains. 
8. The answer has been already received. 
II. Перепишите предложения; подчеркните в них  Participle I 
и Participle II и установите функции каждого из них, т.е.  укажите, является ли оно определением, обстоятельством или частью глагола-сказуемого.  
Переведите предложения на русский язык. 
1. Dominated by the British for 200 years India got freedom in 1947. 
2. The coast facing the Indian Ocean is under tropical forests. 
3. Many people are engaged in cattle breeding in this country. 
4. He used improved methods in his work. 
III. Перепишите предложения; подчеркните в каждом из 
них модальный глагол или его эквивалент. 
Переведите предложения на русский язык. 
1. The situation should be improved. 
2. The farmers have to change their farming methods. 
3. One can see great progress in the development of the country. 
4. He is to examine the experiment very carefully in order 
          to get good results. 
5. The death-rates declined and the total population was to increase. 
6. He must have been to India. 
7. Rice may be grown in the Ganges valley. 
8. They have to improve some raw material. 
IV. Прочтите весь текст, устно переведите его. Перепишите и письменно переведите 2-й, 3-й, 4-й и 5-й абзацы. 
INDIA
1. India, one of the world’s biggest states, is playing an 
increasingly important role on the international scene. It is a federal democratic republic, one of the members of the British Commonwealth. Situated in the center of South Asia, it has a 15000 kilometer-long border. On all land frontiers the country is surrounded by high mountains. The coast facing the Indian Ocean is under tropical forests. The climate is essentially tropical. 
2. A land of ancient culture, India has a population of more 
than 550 million consisting of different races and tribes. It is the second largest population (after China) in the world. While birth-rates remaining stationary, the deathrates declined resulting in a huge increase in total population. 
3. Politically dominated by the British for almost two centuries, 
India received independence in 1947. Since their independence Indian people have made considerable headway in economic and cultural development. 
4.India is rich in coal, gold, iron-ore and oil. India’s leading industries 
are engineering, metallurgy, machine building.  
4. The majority of the population are engaged in agriculture. 
Farmers are growing rice in the Ganges valley. India is a leading producer of tea and jute. Although India ranks high as a world producer of food crops, the output is not sufficient for the enormous population. The situation is to be improved by a number of measures in the farming methods. 
            Notes: 
Birth-rates – рождаемость Death-rates – смертность 
IV. Прочтите 6-й абзац текста и вопрос к нему. 
Из приведённых вариантов ответа укажите номер предложения, содержащего правильный ответ на поставленный вопрос: 
 What are the majority of the population of India engaged in? 
1. The majority of the population are engaged in machine building. 
2. The majority of the population is engaged in agriculture. 
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